T

it fEae (AN01)

TH4 | R3 =1 sl B g BEREERTHE (1) EFRARETE = v iy )1 e fis
=) TERXS | B
THXSy - THE - Rl - ) Bk HLAZ ¥ (mifa)) R (4D KB e
bR
= 1
I 4T
= 1
BB T
= 1
BRUE St HHE: A CES- ERRY L5 T)
m3 50
Vs ey U
m3 50
BB T
= 1
E¥+T
= 1
PRI Y TE D
m3 130
HEL TEXSG L, R
m3 85
BRUE St HHE: L CES- ERRY L5 T)
m3 36
SPTFTHERE T
= 1

=N

i




T

it fEae (AN01)

TH4 | R3 =1 sl B g BEREERTHE (1) EFRARETE HEX S iy )1 e fis
=) TERXS | B
THXSy - THE - Rl - ) Biks HLAZ ¥ (mifa)) R (4D KB e

L ARk T
m 35.6
2 AR T
m 2.5
S L
= 1
TR AL T
= 1
BLG e A FEAEMFRAR : R 5 48
] 1
sy KAELED S
m3 0.4
G an
= 1
KT
= 1
LNVAE?| N PEK & 0Lk 40 (m3/h) A5, HEAK
B AR R EK
£ 20
RKHE T
= 1
IR A
m 62
L B




1.5

-

=Ry

=Y

RfEZR (AN01)

H

TH4 | R3 =1 sl B g BEREERTHE (1) EFRARETE HEX S 7)1 e fes
=) TERXS | B
THX 5y - AR - R - A Biks HLAZ ¥ (mifa)) e (4m) sl e
+o5 KELED S
% 18
BB T HE
= 1
B ER
= 1
HLimfa (FG L)
= 1
T HE
= 1
Bl E
= 1
TRl
= 1
— R PR
= 1
TS
= 1
THABIRE K O 5 1 2 B4
= 1
THEGE
= 1
5= e U




